

KATI PATANG LIFESTYLE LIMITED

List of Allottee of equity shares on 4th August 2025

S No	NAME OF SHARHOLDER	TOTAL SHARES ALLOTTED	Partly Paid Face Value	Nominal Value (Rs.)	Premium (Rs. 5 each)	Total Appl Money recd
1	MAHENDRA GIRDHARILAL WADHWANI	100000	5	500000	500000	1000000
2	PURUSHOTTAM LAL GUPTA	300	5	1500	1500	3000
3	JOGESH CHANDRA CHAUDHURY	100	5	500	500	1000
4	KAPAREVA DEVLOPMENT PVT LTD	375000	5	1875000	1875000	3750000
5	TARUN SHARMA .	1000	5	5000	5000	10000
6	SANDEEP Y .	100	5	500	500	1000
7	JOHN CHEMMAMPARAYIL VARKEY	28	5	140	140	280
8	AJEEM HAFEES	50	5	250	250	500
9	JAGDISH MAFATLAL SONI	700	5	3500	3500	7000
10	RAKESH CHUNILAL DAMANIA	400	5	2000	2000	4000
11	RAJESHWARI DEVI	100	5	500	500	1000
12	ASHOK KUMAR BACHHAWAT HUF .	10	5	50	50	100
13	RAVINDRA VINAYAK BHATAVADEKAR	20000	5	100000	100000	200000
14	DNYANESH RAVINDRA BHATAVADEKAR	20000	5	100000	100000	200000
15	DIWALIBEN MANSHUKHLAL GHAGHDA	170	5	850	850	1700
16	VIJAY MEHTA	50	5	250	250	500
17	VINODKUMAR BHANWARLAL BOHRA	5500	5	27500	27500	55000
18	VALLABH RAMJIBHAI SACHANIYA	28	5	140	140	280
19	RAM CHANDRA SAH	60	5	300	300	600
20	SUMEER VIJAY KAPOOR	458	5	2290	2290	4580
21	RAJESH B SANGHRAJKA HUF .	9999	5	49995	49995	99990
22	VIMAL KUMAR DIDWANIA	1000	5	5000	5000	10000
23	SARITA VIMAL DIDWANIA	1000	5	5000	5000	10000
24	VIMAL KUMAR DIDWANIA HUF .	1000	5	5000	5000	10000
25	YASH VIMAL DIDWANIA	1000	5	5000	5000	10000
26	SURESH CHANDER JAIN	5169	5	25845	25845	51690
27	HITESH CHAWLA	10000	5	50000	50000	100000
28	SAMRATH BEDI	125000	5	625000	625000	1250000
29	SIDDHARTH BANSAL	400	5	2000	2000	4000
30	CHANDER YASH JAIN	300	5	1500	1500	3000
31	KIRITKUMAR PRATAPCHAND SHAH	200	5	1000	1000	2000
32	ALT- ATTITUDE ADVISORY LLP	800000	5	4000000	4000000	8000000
33	NARESH KUMAR GUPTA	85	5	425	425	850
34	MUKUL LALSHANKAR YAGNIK	5000	5	25000	25000	50000
35	MADHUBHAI NATHABHAI PATEL	100	5	500	500	1000
36	RAVI BHATIA	500000	5	2500000	2500000	5000000
37	PRAKASH JAMNADAS DADLANI	1200	5	6000	6000	12000
38	JAYSHREEBEN PRAKASHCHANDRA GOHE	142	5	710	710	1420

39	SAMIR VENICHAND SHAH	500	5	2500	2500	5000
40	BELA SAMIR SHAH	500	5	2500	2500	5000
41	SUSHILABEN CHANDULAL VOHERA	57	5	285	285	570
42	RADHESHYAM RAMRIKH PUROHIT	200	5	1000	1000	2000
43	DHRUVI ASHISH PAREKH	2000	5	10000	10000	20000
44	SUMIT AHLUWALIA	19094	5	95470	95470	190940
45	SARLA PERIWAL	33141	5	165705	165705	331410
46	NEERAJ SARDA	100	5	500	500	1000
47	ANSHUL GUPTA	1000	5	5000	5000	10000
48	SUBHASH CHANDRA GUPTA	1500	5	7500	7500	15000
49	SURENDER KUMAR JAIN	1005	5	5025	5025	10050
50	J RAJENDRA KUMAR JAIN	3000	5	15000	15000	30000
51	ARJUN KHANNA	125000	5	625000	625000	1250000
52	SURBHI LODHA	10000	5	50000	50000	100000
53	ALOK LODHA	125000	5	625000	625000	1250000
54	SIDHARTH PRASAD	75000	5	375000	375000	750000
55	MANU BANSAL HUF .	5000	5	25000	25000	50000
56	SONAL DHARMESH SHAH	18000	5	90000	90000	180000
57	GAYATHRI M .	1800	5	9000	9000	18000
58	UTTAM SHAMDAS PUNJABI	500	5	2500	2500	5000
59	ASHOK JAGDISHLAL ARORA	5000	5	25000	25000	50000
60	AJAY KUMAR AGARWAL	99	5	495	495	990
61	SHASHI AGARWAL	5000	5	25000	25000	50000
62	RAMESHKUMAR KANJIBHAI KARNAVAT	2000	5	10000	10000	20000
63	SUNDRAM .	200	5	1000	1000	2000
64	JONNADA SURYA SAI CHARAN	2500	5	12500	12500	25000
65	SUNIL KUMAR	114	5	570	570	1140
66	CHAND SINGH	142	5	710	710	1420
67	PRABHA KUMARI	17	5	85	85	170
68	LALIT GOEL	35328	5	176640	176640	353280
69	MAHESH DHAKAD	5060	5	25300	25300	50600
70	MAYABAI DILIP MESHRAM	151	5	755	755	1510
71	JYOTI PRAKASH DAS	16570	5	82850	82850	165700
72	KAPIL KUMAR	16570	5	82850	82850	165700
73	SUNILBHAJ MOHANLAL MUNOT	100	5	500	500	1000
74	MUKUL LALSHANKAR YAGNIK	500	5	2500	2500	5000
75	DALIP KUMAR BHASIN	142	5	710	710	1420
76	MUKESH KUMAR AGGARWAL	400	5	2000	2000	4000
77	NISHITA NITIN SHETH	5714	5	28570	28570	57140
78	NARAYAN DAS DHANWANI .	5000	5	25000	25000	50000
79	YASH KIRAN DAMARIA	1100	5	5500	5500	11000
80	BALJEET SINGH CHITKARA	17	5	85	85	170
81	ABHISHEK GUPTA	4018	5	20090	20090	40180

82	VEDANECTAR ENTERPRISES PRIVATE LIMITED	2000	5	10000	10000	20000
83	AKASH ROHITBHAI DOSHI .	100	5	500	500	1000
84	PRAVINCHANDRA HARGOVANDAS MUJPURA .	100	5	500	500	1000
85	PIYUSH CHANDULAL SHAH (HUF)	2500	5	12500	12500	25000
86	CHANDNA ALPESHBHAI MANGUKIYA	1500	5	7500	7500	15000
87	JERAMBHAI BHURABHAI MANGUKIYA	800	5	4000	4000	8000
88	JERAMBHAI BHURABHAI MANGUKIYA (HUF)	1000	5	5000	5000	10000
89	MITESHBHAI JERAMBHAI MANGUKIYA (HUF)	1000	5	5000	5000	10000
90	MAVABHAI MOTIBHAI VAGDA	2500	5	12500	12500	25000
91	NANDLAL SUKHDEV JAIN	428	5	2140	2140	4280
92	HARSHABEN BHARATKUMAR PARIKH	284	5	1420	1420	2840
93	SHAH JAYESH AMRUTLAL	150	5	750	750	1500
94	ANIL ARORA	250	5	1250	1250	2500
95	NEELAM MANISH DALAL	10000	5	50000	50000	100000
96	VEENA BAJAJ	17	5	85	85	170
97	INTEGRATED FINCAP PVT LTD	93977	5	469885	469885	939770
98	HEMA AGARWAL	20000	5	100000	100000	200000
99	BHARATBHAI PRATAPRAY SHAH	114	5	570	570	1140
100	SWARAN KANTA .	17	5	85	85	170
101	KULDIP SINGH RATHEE	145000	5	725000	725000	1450000
102	AMAN RATHEE .	40000	5	200000	200000	400000
103	AKHIL CHUGH	18000	5	90000	90000	180000
104	PRAVEEN ARORA .	120000	5	600000	600000	1200000
105	PRACHEEARORA .	10000	5	50000	50000	100000
106	ARVIND KOCHAR	18000	5	90000	90000	180000
107	VARSHA CHUGH .	150000	5	750000	750000	1500000
108	ANITA CHOUDHARY	2000	5	10000	10000	20000
109	RUCHIRA GOYAL	20000	5	100000	100000	200000
110	GAURAV RAMESH RAICHURA	1000	5	5000	5000	10000
111	DATASCIENT CORPORATION PRIVATE LIMITED	1500	5	7500	7500	15000
112	PHOOL CHAND GUPTA	500	5	2500	2500	5000
113	VIVEK KANDA	30000	5	150000	150000	300000
114	JYOTI MUKUL YAGNIK	5000	5	25000	25000	50000
115	SULA UMESH DHANESHA	200	5	1000	1000	2000
116	PARAS P BHINDE (HUF)	3250	5	16250	16250	32500
117	AMITABH BEHANI	3000	5	15000	15000	30000
118	NIRANJAN KESHAVAN	1714	5	8570	8570	17140
119	DIVY JAIN	5000	5	25000	25000	50000
120	HITESH KUMAR MAHAWAR	6000	5	30000	30000	60000

121	RAYKUMAR PANYAM	500	5	2500	2500	5000
122	AMIT PRAHLAD DAS MALOO	28	5	140	140	280
123	RAJENDRA TIKYANI	1200	5	6000	6000	12000
124	PRASHANT MOHAN	1200	5	6000	6000	12000
125	SRIHARI GIDDALURU	200	5	1000	1000	2000
126	SANKAR JAYASREE	1000	5	5000	5000	10000
127	ADITYA KASERA	22000	5	110000	110000	220000
128	SUMIT GOGIA	15000	5	75000	75000	150000
129	VEERAPANDI ANITHA	9228	5	46140	46140	92280
130	RAMASAMY RAMAMOORTHY	2336	5	11680	11680	23360
131	VARUN MALIK	94460	5	472300	472300	944600
132	ANKIT RAVINDRA JAJODIA	500	5	2500	2500	5000
133	RUSHI ANANDAN KARICHALIL	150	5	750	750	1500
134	RAHUL DANG	1000	5	5000	5000	10000
135	DAGADU BALWANTRAO SHIRKE	200	5	1000	1000	2000
136	VIKRAM JHUNJHUNWALA	5000	5	25000	25000	50000
137	ANSHUL GUPTA	3000	5	15000	15000	30000
138	ANAND RUNGTA	10000	5	50000	50000	100000
139	SHARATH KOOVA	171	5	855	855	1710
140	RAKESH DUTTA	3	5	15	15	30
141	PARITOSH JAIN	4000	5	20000	20000	40000
142	APARNA VASUNDHRA	800	5	4000	4000	8000
143	VIGNESH SURESH BHAT	1000	5	5000	5000	10000
144	MAYANK MAKHIJANI	3000	5	15000	15000	30000
145	RISHABH AJWANI	1000	5	5000	5000	10000
146	KUNAL GUPTA	300	5	1500	1500	3000
147	RAJESH KAPOOR	500	5	2500	2500	5000
148	SACHIN LAXMIKANT PANDYA	1300	5	6500	6500	13000
149	NIRAV NAVIN SHAH	857	5	4285	4285	8570
150	DAMODARAN TUMULURI	990	5	4950	4950	9900
151	KANISHK GUPTA	16570	5	82850	82850	165700
152	DINESH GOPALAKRISHNA SHETTY	166	5	830	830	1660
153	SHAMBHU DAYAL CHOUDHARY	497	5	2485	2485	4970
154	AMARJEET .	76	5	380	380	760
155	TULJARAM MAHESHWARI	25000	5	125000	125000	250000
156	PANKAJ PERIWAL	45970	5	229850	229850	459700
157	ADITYA CHUGH	10000	5	50000	50000	100000
158	PUSHKAR RAMESH BEHERE	2500	5	12500	12500	25000
159	DEEPAK KUMAR	54	5	270	270	540
160	YUVARAJ PALAKSHAPPA	1500	5	7500	7500	15000
161	JYOTI SATYANARAYANA	20766	5	103830	103830	207660
162	PARDEEP GUPTA	10000	5	50000	50000	100000
163	THIYAGARAJAN .	300	5	1500	1500	3000
164	NAYAN LATH	22000	5	110000	110000	220000

165	VITTU BAJRANGLAL AGARWAL	100	5	500	500	1000
166	AYAN VINOD GATTANI	2	5	10	10	20
167	NIMIT GOYAL	20000	5	100000	100000	200000
168	DIVIJ PUNANI	8000	5	40000	40000	80000
169	NIMISH ARORA	350	5	1750	1750	3500
170	SONU PHILIP	7216	5	36080	36080	72160
171	DEEPAK TAYAL	250000	5	1250000	1250000	2500000
172	MELVIN MILTON FERNANDES	2	5	10	10	20
173	MADHU VERMA	20000	5	100000	100000	200000
174	MAHESH KUMAR JAIN	200	5	1000	1000	2000
175	DAGADU BALWANTRAO SHIRKE	200	5	1000	1000	2000
176	VISHAL ANAND TOSHYAN	671	5	3355	3355	6710
177	NAIMA KHATOON	1285	5	6425	6425	12850
178	RAGHAV KAPOOR	600	5	3000	3000	6000
179	PANKAJ PATNI	700	5	3500	3500	7000
180	PRAKHAR PATNI	500	5	2500	2500	5000
181	MOUSMI PATNI	600	5	3000	3000	6000
182	NITIN KUMAR JAIN	125	5	625	625	1250
183	TARIQ ALI KHAN	50	5	250	250	500
184	AJEET KUMAR NIGAM	200	5	1000	1000	2000
185	TALIB ZAFAR	3500	5	17500	17500	35000
186	JAYNIL ANIL SEJPAL	36	5	180	180	360
187	GIRISHPRASAD SHAMBHOONATH	150	5	750	750	1500
188	AMIT KUMAR MANDAL	74	5	370	370	740
189	SANJEEV KUMAR	2	5	10	10	20
190	DEEPAK BAJAJ	14	5	70	70	140
191	SARIKA JAIN	4500	5	22500	22500	45000
192	ABHAY PANDEY . .	428	5	2140	2140	4280
193	GOPAL ACHARIYA . .	200	5	1000	1000	2000
194	LALITKUMAR LAXMANSINGH VERMA	1000	5	5000	5000	10000
195	PIYUSH SHARMA	232	5	1160	1160	2320
196	AZAM ALI	17	5	85	85	170
197	SAMEENA .	17	5	85	85	170
198	PRATIK AGARWAL	3000	5	15000	15000	30000
199	KUSUM KHANDELWAL	1000	5	5000	5000	10000
200	ARE SHIVAJI	1500	5	7500	7500	15000
201	RAJESH KUMAR GARG	28	5	140	140	280
202	GROWTH SECURITIES PVT LTD	200000	5	1000000	1000000	2000000
203	ZULIA ZAFAR	7500	5	37500	37500	75000
204	K TUSHAR KANTI DAYAL	34	5	170	170	340
205	MEGHA GUPTA	15000	5	75000	75000	150000
206	SUSHIL KUMAR CHAUDHARY	3000	5	15000	15000	30000
207	HIMANSHU GORDHANDAS DAVDA	100	5	500	500	1000
208	PRAKASHKUMAR BABULAL SHAH	100	5	500	500	1000

209	NITIN PURUSHOTTAM DALAL	15	5	75	75	150
210	E MILTON DAVID	1200	5	6000	6000	12000
211	HARMOHAN SINGH SAWHNEY	400	5	2000	2000	4000
212	VANDANA SACHDEVA	2000	5	10000	10000	20000
213	KIRAN DEVI AGARWAL	1000	5	5000	5000	10000
214	PUSHKAR CHAND AGARWAL	1000	5	5000	5000	10000
215	ARUN KUMAR GUPTA	27	5	135	135	270
216	HEMLATA CHOWDHARY	100	5	500	500	1000
217	SONIA DEEPAK SHIKARPUR	1500	5	7500	7500	15000
218	BRIAN CRISPIN REGO	1000	5	5000	5000	10000
219	RAJIV TALWAR	125000	5	625000	625000	1250000
220	YASH PAUL BHARDWAJ	200	5	1000	1000	2000
221	RACHNA TYAGI	280	5	1400	1400	2800
222	CHANDRAKALA HASMUKH MEHTA	500	5	2500	2500	5000
223	MAHENDRA RAJMAL GADIA	25	5	125	125	250
224	CHAKRAWORTY BANSAL	25000	5	125000	125000	250000
225	ASHOK KUMAR MAKKAR	100	5	500	500	1000
226	SUNIL HINGORANI	149	5	745	745	1490
227	MANMOHAN CHAUHAN	857	5	4285	4285	8570
228	SHALINI GOEL	428	5	2140	2140	4280
229	JAYAGOPALAN RAMAKRISHNAN	1000	5	5000	5000	10000
230	BHAWNA BHATIA	15000	5	75000	75000	150000
231	OM RAMUKA	3000	5	15000	15000	30000
232	HANUMANTHAPPA MANJAPPA	2000	5	10000	10000	20000
233	PIYUSH ARYA	150000	5	750000	750000	1500000
234	JOSE SEBASTIAN CHITILAPPILLY	500	5	2500	2500	5000
235	SIVASANKARAN K	100	5	500	500	1000
236	ANSHU PAMECHA	100	5	500	500	1000
237	KIRAN K DALAL	500	5	2500	2500	5000
238	INDRA KUMAR BAGRI	10000	5	50000	50000	100000
239	SANGITA JAIN	100	5	500	500	1000
240	VIKAS JAIN	200	5	1000	1000	2000
241	RATTAN KUMAR JAIN HUF	150	5	750	750	1500
242	DINESHBHAI MOHANLAL SHAH	500	5	2500	2500	5000
243	JEVENDRA SINGH SAMANT	34	5	170	170	340
244	KOTI KIRAN MYLAVARAPU	100	5	500	500	1000
245	GAURAV SAYIWAL	41	5	205	205	410
246	VIDHI CHANDAK	7500	5	37500	37500	75000
247	KALYAN KUMAR JAGNANY	17	5	85	85	170
248	PRABHUDEV V KULKARNI	20000	5	100000	100000	200000
249	JANARDHANAN EASWAR	5000	5	25000	25000	50000
250	GOKUL NARESH TANDAN	549530	5	2747650	2747650	5495300
251	GLOBE CAPITAL MARKET LIMITED	500	5	2500	2500	5000
252	AMITIJ ARYA	440000	5	2200000	2200000	4400000

253	VIBHOR KHANNA	95000	5	475000	475000	950000
254	RICHA CHADHA	1700	5	8500	8500	17000
255	KUMANDAS VASTABHAI ARDESHANA	100	5	500	500	1000
256	SHRENIK LALBHAI SHAH	300	5	1500	1500	3000
257	R YOGARAJ	100	5	500	500	1000
258	Y SANTHA	100	5	500	500	1000
259	ANNAMALAI	1657	5	8285	8285	16570
260	SANDEEPSINGH BHATIA	1713	5	8565	8565	17130
261	NITIN CHAWLA	25000	5	125000	125000	250000
262	INDU DEVI AGARWALLA	200	5	1000	1000	2000
263	SHILAJA S	100	5	500	500	1000
264	SAGARIKA TANDAN	28857	5	144285	144285	288570
265	RITU TANDAN	4808	5	24040	24040	48080
266	PREMKUMAR THAKURDAS BATRA	10000	5	50000	50000	100000
267	GURMEET SINGH ANAND	138330	5	691650	691650	1383300
268	HARPAL SHAH SINGH	17	5	85	85	170
269	SHAH ARUNABEN MAHENDRABHAI	100	5	500	500	1000
270	HARPREET KAUR	17	5	85	85	170
271	YAOGENDRA MANUBHAI CHOKSI	6000	5	30000	30000	60000
272	SAPAN YOGENDRABHAI CHOKSI	3000	5	15000	15000	30000
273	NILA YOGENDRABHAI CHOKSI	6000	5	30000	30000	60000
274	PATHIK DIPAKBHAI GAUDANI	6000	5	30000	30000	60000
275	DIPAKBHAI HARIBHAI GAUDANI	6000	5	30000	30000	60000
276	RASILABEN DIPAKBHAI GAUDANI	14000	5	70000	70000	140000
277	BABITA AGGARWAL	400	5	2000	2000	4000
278	MUKESH KUMAR	500	5	2500	2500	5000
279	MUKESH KUMAR	200	5	1000	1000	2000
280	SANJAY KUMAR JAIN	250000	5	1250000	1250000	2500000
281	ABHISHEK SINGHANIA	166905	5	834525	834525	1669050
282	KIRTIDA JAYESH RUPAREL	16587	5	82935	82935	165870
283	RAJENDRA MANTRI	200	5	1000	1000	2000
284	TEJAS JAYANTILAL ADANI	257	5	1285	1285	2570
285	GAURANGIBEN VIMALBHAI SHAH	50	5	250	250	500
286	GEETA DHANWANI	7000	5	35000	35000	70000
287	CHANDRA PRAKASH GUPTA	83	5	415	415	830
288	VIKAS CHANDAK HUF	10000	5	50000	50000	100000
289	VIKAS CHANDAK	5000	5	25000	25000	50000
290	SANGITA BHALOTIA	10000	5	50000	50000	100000
291	DEVANSH CHANDAK	2500	5	12500	12500	25000
292	SHIVANSH CHANDAK	2500	5	12500	12500	25000
293	SANJIV TANDAN LALL	250000	5	1250000	1250000	2500000
294	MEENA ARORA	140000	5	700000	700000	1400000
295	SANGEETA NAGPAL	1100	5	5500	5500	11000
296	MILLENNIUM STOCK BROKING PVT.	27000	5	135000	135000	270000

297	ARVIND AGRAWAL	2000	5	10000	10000	20000
298	ESHA YOGENDRABHAI CHOKSI	5000	5	25000	25000	50000
299	DULI CHAND MAHAWAR HUF	10761	5	53805	53805	107610
300	OMEGA FINHOLD PVT LTD	65000	5	325000	325000	650000
301	BHAGWATI RANGA	165	5	825	825	1650
302	MAMTA CHHAJER	3100	5	15500	15500	31000
303	SHUBHAM GARG	6000	5	30000	30000	60000
304	SHAKTI GARG	150	5	750	750	1500
305	PARAS KATARIA	1000	5	5000	5000	10000
306	KAUSHALAYA DEVI KATARIA	500	5	2500	2500	5000
307	REHAN KHAN	900	5	4500	4500	9000
308	RAMESH CHAND BANSAL	3000	5	15000	15000	30000
309	MONA PRANAV SHAH	10000	5	50000	50000	100000
310	SAHAstra PAL SINGH	285	5	1425	1425	2850
311	MAHESH FOGLA	10000	5	50000	50000	100000
312	KAVITHA SALDANHA	1000	5	5000	5000	10000
313	RUSHI ANANDAN KARICHALIL	50	5	250	250	500
314	MOHD YAMIN	200	5	1000	1000	2000
315	RAJIVE BANSAL	1714	5	8570	8570	17140
316	TINA PRAKASH	100000	5	500000	500000	1000000
317	KUMARMANGLAM VIJAY	16736	5	83680	83680	167360
318	ASHOK KUMAR DANGAICH	2000	5	10000	10000	20000
319	NIRANJAN B JAIN	10000	5	50000	50000	100000
320	SATISH ANKUSH PANJARI	2	5	10	10	20
321	TARUN MAHAJAN	300	5	1500	1500	3000
322	AJAY KUMAR SHARMA	1500	5	7500	7500	15000
323	RITU SHAH	200	5	1000	1000	2000
324	RAJEEV VIJAYKUMAR SHARMA	5000	5	25000	25000	50000
325	REKHA LATH	11250	5	56250	56250	112500
326	BUDHISHA NANDA	10000	5	50000	50000	100000
327	RUPA PODDAR	428	5	2140	2140	4280
328	STATSOL RESEARCH LLP	100000	5	500000	500000	1000000
329	NIKUNJ MAHESHWARI	10000	5	50000	50000	100000
330	BADRI NARAYAN DAGA	10	5	50	50	100
331	DHIRAJ KALRA	166	5	830	830	1660
332	GULSHAN ARORA	5000	5	25000	25000	50000
333	RAGHAV NAYAR	500000	5	2500000	2500000	5000000
334	RAMANPREET SINGH	40000	5	200000	200000	400000
335	ARCHANA CHIRAWAWALA	17	5	85	85	170
336	MAHESH FOGLA	10000	5	50000	50000	100000
337	PIYUSH GUPTA	857	5	4285	4285	8570
338	JAYA AGARWAL	5000	5	25000	25000	50000
339	STUTII MALHOTRA	2000000	5	10000000	10000000	20000000
340	POOJA SINGH	261000	5	1305000	1305000	2610000

341	SANDEEP BIPINCHANDRA SONI	166	5	830	830	1660
342	AMIT SURESH GUPTA HUF	2000	5	10000	10000	20000
343	SHANTANU UPADHYAY	145000	5	725000	725000	1450000
344	MAYA SHARMA	3000	5	15000	15000	30000
345	KHUSHI JAIN	250	5	1250	1250	2500
346	PUNEET MITTAL	166	5	830	830	1660
347	KAVITA B BATRA	5000	5	25000	25000	50000
348	DAGADU BALWANTRAO SHIRKE	200	5	1000	1000	2000
349	BIPIN PREMKUMAR BATRA	10000	5	50000	50000	100000
350	DINESH JESINGH SOLANKI	850	5	4250	4250	8500
351	VINOD KUMAR JAIN	250	5	1250	1250	2500
352	CHANDA DEVI JAIN	500	5	2500	2500	5000
353	SWETA JAIN	250	5	1250	1250	2500
354	VINOD KUMAR JAIN	500	5	2500	2500	5000
355	CHETAN KUMAR JAIN HUF	250	5	1250	1250	2500
356	MUKESH CHAND	2000	5	10000	10000	20000
357	SANTOSH SHANKAR SHETTY	2000	5	10000	10000	20000
358	ROHIT POPATLAL JAIN	200	5	1000	1000	2000
359	CHITRA RAJIV TALWAR	125000	5	625000	625000	1250000
360	JAGDISH PRASAD CHOUDHARY	5000	5	25000	25000	50000
361	ANITA CHOUDHARY	5000	5	25000	25000	50000
362	RITURAJ SHARES & SECURITIES LIMITED	8000	5	40000	40000	80000
363	RICHA GARG	2000	5	10000	10000	20000
364	LEE & NEE SOFTWARES EXPORTS	2500	5	12500	12500	25000
365	JAGDISH PRASAD CHOUDHARY HUF	1000	5	5000	5000	10000
	TOTAL	10256651	5	51283255	51283255	102566510